(Série N°1 : 3éme J [

Exercice N°1 :

A= (z+ 1)(z+3)
=2 +3x+2+3
=2® +4x +3

B = (22 + 8)(z + 5)
— 222 + 10z + 8z + 40
— 222 + 18z + 40

C= 4z — 1)(z +2)
— 422+ 8z —x — 2
— 4z’ + Tz — 2

D= (5 +4)(4z +7)
— 2022 + 35z + 162 + 28
— 202> + 51z + 28

E = (42 + 3)(3z — 2)
— 1222 -8z + 9z — 6
= 1222+ —6

F= (T —4)(2z — 1)
— 142> 7z — 8z + 4

— 1422 — 15z + 4
Exercice N°2 :
A = (4z +3)?

= (4z)* +2 x 4z x 3 + 32
— 162> 4+ 242 + 9

B = (6z —7)*
= (6z)> — 2 x 6z x 7+ 7
= 362> — 84z + 49

C = (5z + 4)(5z — 4)
= (5z)% — 4
— 2522 — 16

D= (3z + 7)?
= (32)*+2x 3 x T+ 7
= 9z® 4 42z + 49

E = (Tz —5)°
= (Tz)? -2 x Tz x 5+ 5°
= 492 — 70z + 25
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F = (3z — 5)(3z +5)

= (3z)* — 5
= 927 — 25
G = (7 — 4z)?

=T —2x 7 x 4z + (4z)*
— 49 — 56z + 162>

— (2z + 9)*
= (2z)* +2 x 2z x 9+ 9?
= 4z° + 36z + 81

I=1(6—2z)(6+ 2z)
= 6° — (2z)°
— 36 — 42>
Exercice N°3 :
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D= (3z+ —

. 7 7\ 2
= (322 1+ 2% 3z x — —
($)+><1:><6+<6)

SHRS

49
— 927 —
z”+ Tx + 36

2
E=(3$—i)
3

4 4\?2
— (32 —2x3xx -+ =
(3z) ><:1:><3+(3)

16
=922 — 8z + — Rafmaths.com




£\ 2
2
:(2:1:)22><2:c><%+(%)

. 25
— 422 10z + ==

4
7\ 2
H=(3z—+
(3-3)
2
:(3$)2—2x3xx%+(%)
49

— 92 — 14z + —
T :I:—I—g

Exercice N°4 :
A= (3z+1)(4z +2) — 5(2z — 3)
= 1222 + 6z + 4z + 2 — (10z — 15)
— 122> + 10z + 2 — 10z + 15
— 1222+ 17

B = (42 — 1)(5z — 3) + 7(3z — 1)
— 2022 - 122 — 5z + 3+ 21z — 7
= 20z> + 4z — 4

C=(5z—4)3z+7)+ (4= — 2)(5z 4 9)
= 1522 1+ 352 — 122 — 28 + 202> + 36z — 10z — 18
— 3522 1 492 — 46

D= (z—-2)(z+2)— (2z+1)(3z — 2)
=g® — 22— (62° — 4z + 3z — 2)
::1:2—4—(6:32—:1:—2)

—z? 46z’ + 12
:—5332+a:—2

E—=4(3c+1)*— (2z+3)(2z — 3)
=4((32)>+2x3zx1+1) — ((22)* - 3%
:4(9$2+6m+1)—(4m2—9)
=362+ 24z +4 — 42>+ 9
= 3222 4 24z + 13
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Exercice N°5 :
A = 2x(x + 3) = 2x2 + 6Xx

B = -7y2(-5 - 2y2) = 35y2 + 14y’
C=X+5)+1)=x2+xXx+5x+5=x2+6x+5
D=(2x-5)(x +4) = 2x2 + 8x - 5x - 20 = 2x2 + 3x - 20
E=(4-a)2=42-2x4xa+a2=16 - 8a + a2
F=(2x+3)2=(2x)2 4+ 2x2xx3+32=4x2 + 12x + 9
G=(4-7xX)(4 + 7X) = 42 - (7X)2 = 16 - 49x2

H=(X+4)(X-6)+ (-1 +Xx)(Xx-7)=(X2-6X+4Xx-24) + (-x + 7 + X2 - 7X)
=(Xx2-2x-24)+ (x2-8x+7)=x2-2x-24+x2-8x+ 7 =2x2-10x - 17

I=-3(@2+2)-(a-3)2a+7)=(-3a2-6)-(2a2 + 7a - 6a - 21)

=(-3a2-6)-(2a2 +a-21)=-3a2-6-2a2-a+ 21 =-5a2-a + 15

J=4-(2x+1)2=4-[(2x)2+2x2xx 1+ 12] =4 - (4x2 +4x + 1)
=4-4x2-4x -1 =3 -4x2 - 4x
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